Glyph accesss commands provided by the linearA package

\LinearAI = F
\LinearAII = ¢
\LinearAIII =Y
\LinearAIV = H
\LinearAV = Q
\LinearAVI = €
\LinearAVII = +
\LinearAVIII = A
\LinearAIX = C
\LinearAX = H
\LinearAXI = &
\LinearAXII = f
\LinearAXIII = ¥
\LinearAXIV = ¥
\LinearAXV = A
\LinearAXVI = H
\LinearAXVII = ®
\LinearAXVIII = f
\LinearAXIX = ¥
\LinearAXX = 7T
\LinearAXXI = A
\LinearAXXII =
\LinearAXXIII = ¥
\LinearAXXIV = fm
\LinearAXXV = T
\LinearAXXvI =
\LinearAXXVII = A
\LinearAXXVIII = [
\LinearAXXIX = X
\LinearAXXX = bd
\LinearAXXXI = i
\LinearAXXXII = "%
\LinearAXXXIII = 4
\LinearAXXXIV = [J
\LinearAXXXV = 2
\LinearAXXXvVI = 1
\LinearAXXXVII = T

\LinearAXXXVIII =T

\LinearAXXXIX = 4
\LinearAXL = Is
\LinearAXLI = '3
\LinearAXLII = [¢

\LinearAXLIII = H
\LinearAXLIV = ¥
\LinearAXLV = X
\LinearAXLVI = i
\LinearAXLVII =&
\LinearAXLVIII = &
\LinearAXLIX =M
\LinearAL = 1
\LinearALI = fif
\LinearALII = I»
\LinearALIII = «
\LinearALIV = ¢
\LinearALV = £
\LinearALVI = 7T
\LinearALVII = X
\LinearALVIII = ¥
\LinearALIX = [
\LinearALX = A
\LinearALXI = 9
\LinearALXII = Y
\LinearALXIII = %
\LinearALXIV =%
\LinearALXV = A
\LinearALXVI = 7
\LinearALXVII = Tt
\LinearALXVIII = ¥
\LinearALXIX = T
\LinearALXX = ¢
\LinearALXXI = If
\LinearALXXII =
\LinearALXXIII =T
\LinearALXXIV = ¥
\LinearALXXV = A
\LinearALXXVI = ¥
\LinearALXXVII = ?

\LinearALXXVIII = M

\LinearALXXIX = {
\LinearALXXX = ¥
\LinearALXXXI = I
\LinearALXXXII =l

\LinearALXXXIII =T

\LinearALXXXIV = &

\LinearALXXXV = %
\LinearALXXXVI =
\LinearALXXXVII = 7
\LinearALXXXVIII = &
\LinearALXXXIX = ¥
\LinearALXXXX = A
\LinearAXCI = A
\LinearAXCII = X
\LinearAXCIII = ¥
\LinearAXCIV = &
\LinearAXCV = ®
\LinearAXCVI = <
\LinearAXCVII = 4
\LinearAXCVIII = I
\LinearAXCIX = ¥
\LinearAC = ¢
\LinearACI = P
\LinearACII =Y
\LinearACIII = O
\LinearACIV = R
\LinearACV = T
\LinearACVI = A
\LinearACVII = "
\LinearACVIII = ®
\LinearACIX = Q2
\LinearACX = #
\LinearACXI = &
\LinearACXII = §
\LinearACXIII = #
\LinearACXIV = R
\LinearACXV = @
\LinearACXVI = &
\LinearACXVII = #
\LinearACXVIII = §
\LinearACXIX =
\LinearACXX = %
\LinearACXXI = €
\LinearACXXII = 0
\LinearACXXIII = J
\LinearACXXIV = n~
\LinearACXXV = ¢
\LinearACXXVI = =



\LinearACXXVII = &
\LinearACXXVIII = H
\LinearACXXIX = ¥
\LinearACXXX = F
\LinearACXXXI = X
\LinearACXXXII = ¥
\LinearACXXXIII = 2
\LinearACXXXIV = {
\LinearACXXXV = &
\LinearACXXXVI = T
\LinearACXXXVII = F
\LinearACXXXVIII = «
\LinearACXXXIX = <
\LinearACXL = ¢
\LinearACXLI = &
\LinearACXLII = &
\LinearACXLIII = I
\LinearACXLIV = O
\LinearACXLV = -
\LinearACXLVI = k=
\LinearACXLVII =
\LinearACXLVIII = &
\LinearACXLIX = ¥
\LinearACL = 0
\LinearACLI = »
\LinearACLII = ¥
\LinearACLIII = X
\LinearACLIV = }
\LinearACLV = ¥
\LinearACLVI = ©
\LinearACLVII = ¢
\LinearACLVIII = T
\LinearACLIX = &
\LinearACLX = &€
\LinearACLXI = U
\LinearACLXII = ¥
\LinearACLXIII = ¥
\LinearACLXIV = =
\LinearACLXV = %
\LinearACLXVI = :m:
\LinearACLXVII = V
\LinearACLXVIII = &
\LinearACLXIX = F
\LinearACLXX = FH

\LinearACLXXI = b
\LinearACLXXII = Y
\LinearACLXXIII = «
\LinearACLXXIV = ¥
\LinearACLXXV = Y
\LinearACLXXVI = ¥
\LinearACLXXVII = ¥
\LinearACLXXVIII = ©
\LinearACLXXIX = f
\LinearACLXXX = ¥
\LinearACLXXXI = ¥/
\LinearACLXXXII = #
\LinearACLXXXIII = &
\LinearACLXXXIV = ®
\LinearACLXXXV = ¢
\LinearACLXXXVI = ¥
\LinearACLXXXVII = ¥
\LinearACLXXXVIII = 4
\LinearACLXXXIX = §
\LinearACLXXXX = I¥
\LinearACXCI = W
\LinearACXCII = &
\LinearACXCIII = %
\LinearACXCIV = ¥
\LinearACXCV = 8
\LinearACXCVI = Ik
\LinearACXCVII = H[
\LinearACXCVIII = %
\LinearACXCIX = Ym
\LinearACC = %
\LinearACCI =/
\LinearACCII = §
\LinearACCIII = #{
\LinearACCIV = I
\LinearACCV =T
\LinearACCVI = ¥
\LinearACCVII = |¢
\LinearACCVIII = &
\LinearACCIX = To
\LinearACCX = ¢
\LinearACCXI = .8
\LinearACCXII = #F
\LinearACCXIII = I%
\LinearACCXIV = &

\LinearACCXV = I
\LinearACCXVI = ¥
\LinearACCXVII = #~
\LinearACCXVIII =
\LinearACCXIX = %f
\LinearACCXX =&
\LinearACCXXI = ¥
\LinearACCXXII = %
\LinearACCXXIII = &
\LinearACCXXIV = &
\LinearACCXXV = 1%’
\LinearACCXXVI = W
\LinearACCXXVII = ¥#
\LinearACCXXVIII = ¥
\LinearACCXXIX = 4
\LinearACCXXX = H
\LinearACCXXXI =}
\LinearACCXXXII = &
\LinearACCXXXIII = .2
\LinearACCXXXIV = %
\LinearACCXXXV =¥
\LinearACCXXXVI =
\LinearACCXXXVII = f"
\LinearACCXXXVIII = &
\LinearACCXXXIX = ™
\LinearACCXL = &
\LinearACCXLI = ¥
\LinearACCXLII = W%
\LinearACCXLIII =
\LinearACCXLIV = k-
\LinearACCXLV = 1%
\LinearACCXLVI =
\LinearACCXLVII = %
\LinearACCXLVIII = ¥
\LinearACCXLIX = fl
\LinearACCL = [¢
\LinearACCLI = 1A
\LinearACCLII =41
\LinearACCLIII = %
\LinearACCLIV = %
\LinearACCLV = f
\LinearACCLVI = [
\LinearACCLVII = X
\LinearACCLVIII = #°



\LinearACCLIX = %
\LinearACCLX = %
\LinearACCLXI = &
\LinearACCLXII =&
\LinearACCLXIII =
\LinearACCLXIV = %@
\LinearACCLXV = 7%
\LinearACCLXVI = ¥
\LinearACCLXVII =
\LinearACCLXVIII = Rk
\LinearACCLXIX = &
\LinearACCLXX = %
\LinearACCLXXI = %
\LinearACCLXXII =
\LinearACCLXXIII = Ia®
\LinearACCLXXIV = 4
\LinearACCLXXV = J&f
\LinearACCLXXVI = &
\LinearACCLXXVII = %
\LinearACCLXXVIII =
\LinearACCLXXIX =
\LinearACCLXXX = RS
\LinearACCLXXXI = J¥
\LinearACCLXXXII = %
\LinearACCLXXXIII = %
\LinearACCLXXXIV = Ju¢
\LinearACCLXXXV = [
\LinearACCLXXXVI = 77
\LinearACCLXXXVII = 7
\LinearACCLXXXVIII =¥
\LinearACCLXXXIX = [+
\LinearACCLXXXX = 75
\LinearACCXCI = %
\LinearACCXCII = w
\LinearACCXCIII =}
\LinearACCXCIV = ¥
\LinearACCXCV = &
\LinearACCXCVI = A
\LinearACCXCVII = «
\LinearACCXCVIII = ¥
\LinearACCXCIX = f*
\LinearACCC = ¥
\LinearACCCI = ?
\LinearACCCII = #4

\LinearACCCIII = ¢f
\LinearACCCIV = ¥
\LinearACCCV = }
\LinearACCCVI = ¢
\LinearACCCVII = %;
\LinearACCCVIII = {m
\LinearACCCIX = v
\LinearACCCX = %
\LinearACCCXI = &
\LinearACCCXII = b
\LinearACCCXIII = #i
\LinearACCCXIV = %
\LinearACCCXV = ¥
\LinearACCCXVI = ¥
\LinearACCCXVII =/
\LinearACCCXVIII = %I
\LinearACCCXIX = &f
\LinearACCCXX = #?
\LinearACCCXXI = ¢
\LinearACCCXXII = ©
\LinearACCCXXIII = %
\LinearACCCXXIV = &
\LinearACCCXXV = &
\LinearACCCXXVI = X
\LinearACCCXXVII = &
\LinearACCCXXVIII = <«
\LinearACCCXXIX = %
\LinearACCCXXX = if
\LinearACCCXXXI = %
\LinearACCCXXXII = =
\LinearACCCXXXIII =
\LinearACCCXXXIV = ©
\LinearACCCXXXV = %
\LinearACCCXXXVI = f
\LinearACCCXXXVII — T
\LinearACCCXXXVIII = %
\LinearACCCXXXIX = %
\LinearACCCXL =
\LinearACCCXLI = %
\LinearACCCXLII = A
\LinearACCCXLIII = #
\LinearACCCXLIV = 7+
\LinearACCCXLV = nd
\LinearACCCXLVI = z¢«

\LinearACCCXLVII = &
\LinearACCCXLVIII = ¢«
\LinearACCCXLIX = f
\LinearACCCL = 79
\LinearACCCLI = T
\LinearACCCLII = /7
\LinearACCCLIII =T
\LinearACCCLIV =1
\LinearACCCLV = 7?
\LinearACCCLVI = 4%
\LinearACCCLVII = <G
\LinearACCCLVIII = d
\LinearACCCLIX = %
\LinearACCCLX = s+
\LinearACCCLXI = T¢
\LinearACCCLXII = #
\LinearACCCLXIII = ¢
\LinearACCCLXIV = #I
\LinearACCCLXV = ¢
\LinearACCCLXVI = %
\LinearACCCLXVII = d¢
\LinearACCCLXVIII = +
\LinearACCCLXIX = &
\LinearACCCLXX = ++
\LinearACCCLXXI = ¢
\LinearACCCLXXII = %+
\LinearACCCLXXIII = d¢:
\LinearACCCLXXIV = ?
\LinearACCCLXXV = &
\LinearACCCLXXVI = }¢C
\LinearACCCLXXVII = ¢
\LinearACCCLXXVIII = sd
\LinearACCCLXXIX = &
\LinearACCCLXXX =1
\LinearACCCLXXXI = ¢
\LinearACCCLXXXII =}
\LinearACCCLXXXIII = /t
\LinearACCCLXXXIV = 4%
\LinearACCCLXXXV = ?
\LinearACCCLXXXVI = +
\LinearACCCLXXXVII = §}
\LinearACCCLXXXVIII = %1
\LinearACCCLXXXIX = 4R



